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Hydrogen fuel cell is a fuel cell that combines hydrogen 
and oxygen to produce electricity with water and steam 
as the only by products. It is a climate frinedly fuel as it 
does not emit carbon dioxide or particulate matter as the 
case with conventional fuels like diesel, coal etc.
Hence, both the statements are correct.
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* Arteries are the vessels which carry blood away from 
the heart to various organs of the body. Since the blood 
emerges from the heart under high pressure, the arteries 
have thick, elastic walls.
* Veins collect the blood from different organs and 
bring it back to the heart. They do not need thick walls 
because the blood is no longer under pressure, instead 
they have valves that ensure that the blood flows only in 
one direction.
* Hence, only statement I is correct.
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* ATP is the energy currency for most cellular 
processes. The energy released during the process of 
cellular respiration is used to make an ATP molecule 
from ADP and inorganic phosphate.
* Endothermic processes (processes that consume 
energy) in the cel then use this ATP to drive the 
reactions. When the terminal phosphate linkage in ATP 
is broken using water, the energy equivalent to 30.5 
kJ/mol is released.
* Hence, both the statements are correct.
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* Femur is the thigh bone. It is the longest and strongest 
bone in the human body.
* The sternum or breastbone is a long flat bone located 
in the central part of the chest. It connects to the patella, 
also known as the kneecap, is a thick, circular-triangular 
bone which articulates with the femir (thigh bone) and 
covers and protects the anterior articular surface of the 
knee joint.
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A plane mirror is a mirror with a flat and smooth 
reflecting surface. Reflection from a smooth surface like 
that of a mirror is alled regular reflection. Images are 
formed by regular reflection.
* The image formed by a plane mirror is erect.
* It is virtaul (cannot be obtained on a screen) and is of 
the same size as the object. This is because the light rays 
do not actually pass through the image. So, it cannot be 
focused on a screen placed at the location where the 
image is.
* The image is at the same distance behind the mirror as 
the object is in front of it.
* The left side of the object is seen on the right side in 
the image, and right side of the object appears to be on 
the left side in the image. This is known as lateral 
inversion.
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Polytetrafluoroethene (Teflon): Teflon is manufactured 
by heating tetrafluoroethene with a free radical or 
persulphate catalyst at high pressures. It is chemically 
inert and resistant to attack by corrosive reagents.
It is used in making oil seals and gaskets and also used 
for non - stick surface coated utensils.
Other advantage of Teflon is its versatility, and the 
range of applications over so many products and 
different industries for this material is staggering. The 
use of teflon can have massive benefits in manufacturing 
and engineering, not just in making tubes or liners for 
handling or storing corrosive chemicals, but by coating 
parts such as bearings or screws to increase the lifetime 
of both the parts themselves and the machinery they are 
part of. Hence statement 1 and 2 are correct.
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Vitamins fall into two categories:
* Water-solube vitamins - C and the B-complex 
vitamins (such as vitamins B6, B12, niacin, riboflavin, 
and folate) - need to dissolve in water before your body 
can absorb them. Because of this, your body can't store 
these vitamins. Any vitamin C or B that your body 
doesn't use as it passes through the human body is lost. 
So one needs a fresh supply of these vitamins every day.
* Fat-solube vitamins - A, D, E, and K - dissolve in fat 
and can be stored in your body.
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